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No calculator

1. There are 87 passengers sitting in a train.

There are 32 passengers standing in the train.

How many passengers in the train?

1. . . . . . . . . . . . . .

2. Carter has 76 nails.

He buys another packet of 72 nails.

How many nails does Carter have now?

2. . . . . . . . . . . . . .

3. There are 53 adults in the cinema.

There are 71 children in a cinema.

How many people in the cinema?

3. . . . . . . . . . . . . .

4. There are 90 girls at a play.

There are 26 boys at the play.

How many children at the play altogether?

4. . . . . . . . . . . . . .

5. Claire has 81 rawlplugs.

She buys another packet of 24 rawlplugs.

How many rawlplugs does Claire have now?

5. . . . . . . . . . . . . .

Answers 1) 119 2) 148 3) 124 4) 116 5) 105
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